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Chemical Quantities Worksheet Name
Period Date
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L Calculate éhg_ mass of silver needed to Treact with chlorine to produce 84 g of silver chioride.
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3. There were .0330 moles of hydrog,

€N gas produced from the single replacement reaction of zinc with nitric
acid. Calculatg the mass of zinc needed for this reaction.
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/ﬁhat mass of ammonia,  NHj, is necessary to react with 2.1 x 10*
equation? (Balance Fi Ay q) 2,00 )0%% 0 les
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molecules of oxygen in the following
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@Calculate the volume of carbon dioxide produced when 250 g of pentane, CsH,,, burns. Density of CO,
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7. What mass of silver can be produced from 3.00 mole of copper when reacted with silver nitrate? Copper (II).
Nitrate is formed
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8. Calculate the mass of water produced when 2.75 x 102 molecules of oxygen react with hydrogen gas.
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9. How many moles of oxygen are reqmred to burn 4.8 mole of butane, C-,Hm completely? 4 .
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